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QUESTION 1

A customer is considering deploying a Hitachi NAS Platform as their primary NAS solution provider. They have the
following requirements: -100000 NFS Spec2008 OPS -45 TB storage capacity -8000 concurrent users -Redundancy
Which minimum Hitachi NAS Platform configuration would meet these requirements?

A. A2-node 3080 cluster

B. A2-node 3090 cluster

C. A3-node 3090 cluster

D. A4-node 3080 cluster

Correct Answer: B

QUESTION 2

A customer has purchased a second Hitachi NAS Platform system. They will replicate files to this Hitachi
NAS Platform using object replication and they want to hold snapshots on the target file system.

Which object replication feature would you use to achieve this?

A. checksum

B. object replication port

C. processing options

D. file replication rules

Correct Answer: C

QUESTION 3

You are designing a solution for a Hitachi NAS Platform 4000 that will be used in a VMware vSphere environment. The
customer would like to use tiering to improve performance. What are three design best practices for Hitachi Tiered File
Systems in this environment? (Choose three.)

A. When using SAS drives in tier 0, RAID 1+0 should be used.

B. RAID6 should be configured for HDT.

C. SSD should be used in tier 0 to achieve the largest performance improvements.

D. Use the "fs-analyze-data-usage" command to simulate Tiered File System metadata requirements.
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E. Use five percent of the total file system size to estimate the metadata requirements.

Correct Answer: ACE

QUESTION 4

What are two characteristics of file system expansion within a Storage Pool? (Choose two.)
A. File systems can be expanded as long as they contain meta data.

B. Chunks define the increment by which file systems grow when they expand.

C. To add more than one file system to a Storage Pool, a license key is required

D. The chunk size limits the file system size.

Correct Answer: BD

QUESTION 5

You have prepared a solution upgrade proposal for an existing Hitachi NAS Platform customer who is
planning to purchase additional nodes. While presenting to your customer, they ask about mixing models
within a cluster.

Which statement is correct?

A. A cluster must be made of the same models.

B. A cluster can be made of different models.

C. Mixing 3000 models within a cluster is supported.

D. All models can be clustered with each other.

Correct Answer: A
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